Group 6

HW 14.2

200 moles of hydrogen peroxide (H2O2) are placed into a sealed vessel. Ultraviolet light is shined at the right wavelength long enough for 40% of the hydrogen peroxide to decompose to oxygen and hydrogen diatomic gases. If the temperature and volume of the vessel remains constant, and the initial pressure was 1 atm, what is the final pressure in the vessel?
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PV=nRT    and    P2V=n2RT
R,T,V are constant
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H2O2 :  200mol – f3,H2O2 - 1ξ = 0





O2 :                   - f3, O2 +1ξ = 0 





H2 :                   - f3,H2 +1ξ = 0





   200 – 120 = ξ = 80





   f3, O2 = 80 mol





    f3, H2 = 80 mol
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